91.1

1)  Work out 3.1
4 6

2)  Workout1.2 x2.89

3) Evaluate 3°

4)  Expand 4a(3 — 2a)

5) Complete 12km/h =? m/s



91.2
1)

2)

3)

4)

5)

Find 35% of £460

Solve5x +6 =3x—1

Make x the subject of y = x% — b

Find the nth term: 17, 23, 29, 35, ...

Workout 6 X3 — (4 + 7)



91.3

1)  Work out 2.1
6 2

2)  Workout 5.6 X 0.97

3)  Evaluate 43

4)  Expand 3x(5 — 2x)

5) Complete: 10 m/s = ? km/hr



91.4
1)

2)

3)

4)

5)

Find 25% of £320

Solve2x+5=6x—1

Make x the subject of ay = (x — b)?

Find the nth term: 7, 18, 29, 40, ...

Workout10 —2 X2+ 3



91.5

1)  Work out Ix®
277

2)  Workout 0.35 X 6.7

3) Evaluate 5°

4)  Expand 6x(4x — 3)

5) Complete: ? m/s = 18 km/hr



91.6
1)

2)

3)

4)

5)

Find 75% of £460

Solvedx — 7 =11 — 2x

Make x the subject of y = vax

Find the nth term: 35, 38, 41, 44, ...

Work out 6% — (2 x5+ 3) x 2
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